N: Normal ot xo
g-jﬂ: 1-'}11 {K-u?fn)

h’ilzill_
™y

F.;I_'P Find tHe _p-::fﬂ-H on the curve :1:{3-33-:?42“:::
wheve the #a.mje.ui s pm’a.llr;| le Hhe x-axs.

= 6X _ 6x -2 =0 T // x-oxis
e SRS
(G2 Cxs()=ln

e U or ®o=-)

when x =2 =Y = 2(8) ~AW -1l2) 420 =

Asi=l DN = () ~30) {12 ane =~
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o

27

’?’ﬁ-’ pnl‘n!'s ore (2,0 andl (-—l,;l‘-}-)

‘-';,’_5,-? Find slope of xzo 'er FO)= secx fenmx

slope ol x=0 is { (o)

&
2
-F(X): SeoX. Sy e hmx .SEcxf-anx
= Eecjx 4+ Secx -1-.:»11!:{

3 . 3
) +secl) (tano) = ()+0)(0) =140= |

-F[":-'} = (S{'CD
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i}(-ir'ldcy:!:
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=

_d% _ X
_;EH-_ 3-_

(@) Xy = Cos (xy)

xg{ +J = - s (xy) Xﬂf*l-éij

xyf + x;x 5|‘n{x3) i Y sin(xy)
xg,lf( | & El‘n(rﬂj) = -3(! - 5|‘ﬂ{x‘j)>

Y= DYg=Fo_ 2 ?

é‘ff Eﬂd ﬂﬂfﬂ-‘loj l’iht‘ fo H.'E Curye ,'atd+1x _J:D .H’w-}. s |
para.lfel lo He lhe 2x +4=0 |

-ﬁ-‘:‘. anf, j_x-ir:j:-_ﬂ' lﬂd; SIFGPE. .rﬂj‘: -2 sSince é ==X
+The nofmal |ine (s paralle] +o Y=-2x so it hase slope m,
.‘ﬂne cun/e XJ+EX _j =0 huj s\:.Fg My = - . at

™| <

Fﬂliﬂ" ﬂp ;ﬂ}cfj'f{_‘hbm ﬂF 'é'-‘-'?.}!. Wity Curve.

xg+gre Bzo 2 Y(x-1)z %2 .

C;j'#: Chﬂ = -.9'-1 2 "(E‘*"—J = Yt :_L
el X =\ -(1=x) \ - X 2 ‘
2(;*1;} e = 1;+"1":\-—}t’ o= 5 R ST
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S'J}”/’L’& 0, n 7‘473' corve  to 7(lﬂc/ He pm'n;[;
of l‘n}ef’sech‘on He [ine

3]

WiHh Ccurve

> ("%j—-B)C;L +2(‘?-J-3)—Zj =0

_151—3:] = {Y=6 SO

-2.3,2' - 85_-6 =80
3 ¢4y +3=0
(3+)(3+3) =0
=~ —0F C;: -3
9 from ©
Yom
%J@ o
KE—zlsh) =58 X=-2(-3)-3
= = %

3‘\302”"1()(—)(5\
YR X =3 et
FJ4+3 = -2X 4 €
.= =2X 4+ 3
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L N Ea.r“f'la.\tfm n

-ﬂ; bfsf' Ir.ﬂEﬂf <I:-MCLII1{JH :"‘1'5.} ﬂfpmﬁ';‘mafﬁf Hie CJI‘)C]C

corve £(x) ~near x=o is ks tongent Iine given by

Loy = Flo) « flo)(x-a)  |y-if =mix-xo)
Y - fta)= £la)(x-a)
o L(x) is cedled Li'ﬂean'zcx.h'nn of £ix) ajlxzq:j = (o) *f‘iﬂ){x—a)
. The aﬁ;mﬂmw{wbn £ 2= L(x) is celled

vhe 'stondard |inear affmximaii'ﬂn of £ at x=a

fi{gp Cﬂ‘ﬂffoffﬂr'“’ Hhe [ﬁanL"r:H F[HJ = VIitX
YIJF.IHC.J “ﬂm{?_a_;!-'n‘m o -[: ot x=0

L(x) = fle) + o) (x=0) {Eﬂ: 1 ffﬁ
(Lo =1 54X flo= 1

@ Use ]r'utahri?a}':ﬂﬂ J—e E‘J#MDJE '.Frﬂ'z) nm:f ;(‘ﬂ-""'ﬂ

= Joeoa] =il

floz) = Liow) = | &

oL

o
JC(‘:"‘:"'") Pl J..CEJ-D‘-J'): bk E"{f: | 4+ 0:02 = |.02

(3 Find  the 4rve valves of f (o) and p(ﬂ""‘y
'F(EF'E} - Jitor = Via = 1095945115
f(ﬂ-ﬂ'f): vV | +o.0¢ ;\J V.04 = ).01980 39017

@ .F.J'ﬂc.l Erver onol Compare |
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E—— } ‘F(ﬂ*?-) - L[”“EJI = 0.00455 < 0:005 = 5x/5°

!

E = ) £ (o004 — ua-ow) e 5, EOBI9E 2 Bco = i

As X —» 0o = Evror decleases
Ty means L) gives betier apprb.x-.'ma.lfcm

@ jkd‘c«]ﬂ L) and L (x) A4 \'_l,_ﬂf'x
\ Aﬁfﬁ

w}:}

E!f Frhc.'! linearizobvon of fx) = cosx 3+ of x=

L) = £(5)+ FIB(X-T) | Fx)= - siax

:(Cﬂﬁgi-+9 = ("‘E (x-C ‘Ff"g):_,sfngf

Z 3
— (L _ \E Ji T — Nz
._Lz.-'rl) .__.E_...}( + c —-_T
=3 &g el
- ) ¥ 6’
L{x):<_§,+___ﬁ_ﬂj__ f_&
€ T

- |
Remark:  £(x) = () +x) = L) = |+Kkx nlafj near
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:]."-F C'y-t:'}"flf,} 15 -:'.‘laci( :HL X’:ﬂ;ll'he-"‘- S-t: ;{I}/ ‘Ffﬂ) |

X
Cl‘j = -Ffﬂ.) (C};:L_

C’J'a[-ftfmﬂl‘\‘ﬂi or ’ F'.!Hmaﬂf.c, Uﬂiﬂ dy — BX

o 0Y = BE = Fl6)-£x) =Y -9, is Trve Valve

r =

e We will see Cﬁj - AL = H‘!H.{E; Ca'j‘ ~ DY *«ﬁ“ !

- iuﬁoo_l:ﬂ we movce anm xl.—_a -F{'ﬂ"'%.“".,_““
+o ﬁﬂﬂf%j Pﬁfﬁf s A dx Uﬂ..'f”.l.. i

L{ﬂ) = ;['u.] 2k
. Irve Cﬁmﬂﬂ n Y= Ly s

Dy = Y = F (%) - f£x) . :~+dx. .
= f(axdx) - £ (a)
. Eﬂfma}ed:falue " ditleronkied” g BX = i o
C{j = { (a) x = dx
LBy W Hence, we use cliffesmbal

LR a[_;f to eshwale Hie

. Error = }'Tr_*uc_ Velve — E;].-,mal-ec} uh.lﬂt\
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.»:.::_i'p F}n(}, Hae C‘.J!'Fj["ﬂffﬂh‘l]b_! ﬂ—F
© Y= X iox ol k=)

P
c:ij:- ;fﬂ) Ax 5;: 33X + 2
- f[(r L ' ra
e —r
mcd KB} 11) - B X2
= (5 = 5
) = Yan (2%) et x=o f dx-= _‘fL
d{g = -Ffﬂ) cﬂ:ﬂ. (ﬂf:ESEQECZI)
= ((2) S =2 sel(o
= A 2 ={2){1) :
- =2 |
E}P FJ'ﬂCJ Hie exver in Exp (D)
. Eshmaded valve is Glj = - e e - |
Trve "ifD\-JJJE 5 f:'é - 'FLK':J -~r-f.i':'|.) Xn = a4+ dx
= £ (12)-£00 =+ 3
e l}"njjﬂ_ 3 _—_%
= !a ‘23 il

. Erter = ] Trve Valve _ Es 'I“;mﬂ.lret:( %luz]

FONY) =) 2012)
= dﬂ) = 1728+ 2.4
=\ 45128 _1| - Y.128
- ©-128

L 1 .
uuaueﬂ-B-y.—Malabrebaid—‘

3 .
HU: |+ 2(t) =]+2=3 |



Fz_[:__«x;p /JJ; mofu‘u.r r of circle Increases

;rc:m I0em  }to |0 Cm .

Ej Ej#:‘malc H]g dﬂa.ngc in  the cl‘r-::}r.'; areaq, .

A = r"l'Tf"
dh = 2r T dr
= 2(10) T (e:1)

il ?
[2) /',1”0? He +rve CJ’LMQE_ in Hie area. .
Yy =[O
bﬁ:ﬁ—;_— ﬂ'l Yo = ]0-]
= A(r) — A(R) dr =1 -4
="Atey). — p(1o) = lo.{ =10
= (o)) U0) =T = o]
= e WA TR 7o (T
o s |

3) Find Me ervor

Erfor - | bA =y :) 20Nl 'ETT') o

[V Eslimake the area of He ‘.mrge_ civel.

AR) + dA = JooTT + 2T =
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